=LPDB

*UXSD S5RINiDG 35% -

7\J

o
!
=
n
oD
)
™
o3
=
)
7N 7N 7™ 7™ 7™ 7™
O0RN IC O0RN IC U l CGii U l CGii = [l INL = [l INL
RN ICT\NRZ\ 7\J RN ICT\NRZ\ 7\J 3UDZR F\ZUQH F]C6 3UDZR F\ZUQH F]¢6 DVDGN IHFKQIN DVDGN IHFKQIN
35$ - 35$ - RJYIQD ZDU PJU RJYIQD ZDU PJU SDZRGDZFIHI ZDU Gl SDZRGDZFIHI ZDU Gl
- - . ZIDINRZVND . DIRIQD = . ZIDINRZVND .DURIQD = 3DUDGRZVN. ODUXV] =% 3DUDGRZVN. ODUXV] =%
% 35% - % 35% - 35% - - 35% - =
el =85 =85 = ZNJ  JDICFID GR
3UDZR F\ZUQH F1¢6 7\ ~
RJYIQD Z_ SIRI JZ Gl J €] =DW]IDIGR Z\ERIX ]
KDE /ISIEVNL SIHNVDQGHY 3UDZR NDUQH ZDU Gl 3UDZR NDUQH ZDU Gl GULDSRUD = RIFIHFK 7
=DICFIDRQ IQH  35% - UyEH $GDP =% = yEH) $GDP =% =% 35$ - - DIV]IDIGR Z\ERIX. ]
C 358 = = 358 = = =85 GULDSRID = RIFIHFK
3VAFKRIRJLD GID =% 358 -
7] 7] SIDZQINyZ -$5
= DW]IDI GR Z\ERIX ] = DW]IDI GR Z\ERIX ] ‘
GULDSRUD = RIFIHFK GULDSRUD = RIFIHFK 7] gl}g\z'cgms%m eib
=% 35% - =% 35% - 3UDZR DGPLQWIUDF\IQH
=85 =85 F] RIYIQD ZDU Gl %.HG 7\6]
3VAFKRIRJLD GID 3VAFKRIRJLD GID 6URNRV] 3DXIQD =% 3UDZR DGPLOVIUDFAIOH
a SIDZQINYZ SIDZQINYZ 35% - F1 RIYIQD gDU' o °Q/oLHG
&z =$5 BURNRV] 3DXIQD =%
& 7\G] 7\6] 358 -
x 3"z, Gl zUyEH) 3%z, Gl zUyEH) 7\G] - $5
SIHNVDQGHU =% SIHNVDQGHU =% 3UDZR NDUQH ZDU Gl
35$ = :$5 35% = =$5 = UyEH) $GDP =% 7\6]

/HFTQIFTH GURGNL
1DEH]SIHF]DIaFH Z
SUDZIH NDUQ\P

7\G]
3%z, GU zUyEH
S$IHNVDQGHU =%
35% - = $5
/HF]QFTH GURGNL
DEH]SIHF]DIgFH Z
SUDZH NDUQ\P

7\6]

3UDZR F\ZUQH F]CGi
RJYIQD Z SURI ]Z GU
KDE /LSLEVNL $IHNVDQGHU
=DICFID RQ 0IQH 35%

/HFTQIFTH GURGNL
1DEH]SIHF]DIaFH Z
SUDZIH NDUQ\P

7\G]
3%z, GU zUyEH
S$IHNVDQGHU =%
35%$ - = $5
/HF]QFTH GURGNL
DEH]SIHF]DIgFH Z
SUDZH NDUQ\P

35% : -

7\6]

3UDZR F\ZUQH F]CGii
RJYIQD ZDU PJU

. ZIDINRZVND .DURIQD =
% 35% -

-$5

3UDZR NDUQH ZDU GU
- UyEHI $GDP =%
35% - -




=LPDB

*UXSD S5RINiDG 35% :

7\J

QLHG]LHOD

7N\J

3UDZR F\ZUQH FICGi
RJYIQD Z SURI JZ GU
KDE /LSIEVNL $HNVDQGHU
=DICFIDRQ IQH  35%

7N\J

3UDZR F\ZUQH FICGi
RJYIQD Z SURI JZ GU
KDE /LSIEVNL $HNVDQGHU
=DICFIDRQ IQH  35%

7N\J

3UDZR DGPLQLVIUDF\IQH
F]CGi RIYIQD Z  GU
9%LHG 6URNRV] 3DXIQD =
DICFDRQUQH  35%

7N\J

3UDZR DGPLQLVIUDF\IQH

F]CGi RIYIQD Z  GU

9%LHG BURNRV] 3DXILQD
DICFLD RQ 0QH 35%

7\J
3UDZRNDIQH Z  GU
= UyEHI $GDP  =DICFLD
RQ (lIQH 35% = =

7\J
3UDZRNDIQH Z  GU
= UyEHI $GDP  =DICFLD
RQ (lIQH 35% = =

7\G]
= \NiDG 6ZRERGQHJIR
Z\ERUX,, GU "HINQJ
= LXN $QQD =DICFID RQ

7\G]
= \NiDG 6ZRERGQHJIR
Z\ERUX,, GU "HINQJ
= LXN $QQD =DICFID RQ

(lQH 35% - = (lQH 35% - =
=DVDG\ SRVICSRZDE =DVDG\ SRVICSRZDE
SUTHG 7U\EXQDiHP SUTHG 7U\EXQDiHP
-RQVINIXF\IQ\P -RQVINIXF\IQ\P

7\ 7\

3UDZR DGPLQLVIUDF\IQH

F] RJyIQD ZDU GU %LHG

6URNRV] 3DXUQD =%
35% -

-$5

3UDZR DGPLQLVIUDF\IQH

F] RJyIQD ZDU GU %LHG

6URNRV] 3DXUQD =%
35% -

-$5

7\6]

= \NiDG 6ZRERGQHJR
Z\ERUX ,, GU "HI\QJ
= JLXN $QQD =DICFLD RQ
(lQH 35% - =

=DVDG\ SRVICSRZDE

SUJHG 7U\EXQDiHP

-RQVINIXFAIQ\P = INJ
JDICFLD RG JRG]

7\6]

= \NiDG 6ZRERGQHJR
Z\ERUX ,, GU "HI\QJ
=JIXN $QQD =DICFLD RQ
(lQH 35% - =

=DVDG\ SRVICSRZDE
SUJHG 7U\EXQDiHP

- RQVINIXFAIQ\P

7\
3%z, GU zUyEH
S$IHNVDQGHU =%
35% - = $5
/HF]QIFTH GURGNL
DEH]SIHF]DIgFH Z
SUDZH NDUQ\P

7\
3%z, GU zUyEH
S$IHNVDQGHU =%
35% - = $5
/HF]QIFTH GURGNL
DEH]SIHF]DIgFH Z
SUDZIH NDUQ\P Z INJ
JDICFLD GR JRG]

7N\

= \NiDG 6ZRERGQHJR

- \ERUX ,, GU "HN\QJ
“JIXN $QQD =DICFLD RQ
IlQH 35% - -
=DVDG\ SRVICSRZDE

SUTHG 7UNEXQDHP
- RQVINIXFAIQ\P

7N\

= \NiDG 6ZRERGQHJR

= \ERUX ,, GU "HN\QJ
“JIXN $QQD =DICFLD RQ
IlQH 35% - -
=DVDG\ SRVICSRZDE

SUTHG 7UNEXQDHP
- RQVINIXFAIQ\P

7\6]

= DUV]IDI GR Z\ERUX ]
GU 1DSRUD = RIFLHFK

=% 35% :

-$5

3VAFKRIRJLD GID

SUDZQINyZ

7\6]

= DUV]IDI GR Z\ERUX ]
GU 1DSRUD = RIFLHFK

=% 35% :

-$5

3V\FKRIRJLD GID

SUDZQINYyZ = INJ

JDICFLD GR




